
Seed
Boot Kit
Instruction 
Manual



Parts Included

1 x Seed Boot Includes:
1 x Tyne Frame
1 x Backshoot
1 x U-Bolt

2 x M12 x 45 Bolt
4 x M12 Nyloc Nut

Option 1:

Option 2:

 Standard Angle

Tilt Back Angle

Recommended for dry,
sandy or lighter soils.

Recommended for heavy
or wet soils. 



Step 1:

Step 2:

Attach the tyne frame to the tyne
using the main 2 bolts. Tighten the
nuts and then fasten the U-bolt to
the top for additional support. Do
not tighten the U-bolt before the
main bolts.

After determining your desired
closer plate height and angle (see
options 1&2) fix the backshoot to
the tyne frame and fasten using
the nuts and bolts provided.

If you have any questions about installing your Boot Kit please
do not hesitate to give us a call on 08 9354 1111

Step 3:
Insert the seed hose into the
backshoot and tyne frame. If you
are using hose adaptors fix the
adaptors into the backshoot first
and then insert the seed hose.



Reorder Part No.

U-Bolt
M12 x 45 Bolt
M12 Nyloc Nut

FA-0703
FA-0223
FA-0403

www.maxipoint.com.au 08 9354 1111 sales@maxipoint.com.au

Text a photo to    0499 225 219 
along with your name and
postage address and we will
send you a FREE Maxipoint hot
sauce!

We love seeing our products ready for action!


